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L Physics : Section-A (Q. No. | to 3%) x|
1 A tightly wound 100 turns coil of radius
10 cm carries & current of 7 A The magnitude of
Ilumpﬂicﬂrlﬂllmemofﬂnmiliiﬂﬂe

permeahility of free space as dn « 10”7 S units):
() 47
(4) 44T

(1) 44mT
(3) 44 mT

Q Match List-1 with List-11.
List-1 List-T1
(Material)

(Susceptibility (1))
x=0
0>x2-1
x>>1

0<y < € (asmall

O N = »

positive number)
Choose the cormect answer from the options given
below:
(1) AAIL B-L C-L DIV
(2) AV, B;l_l;l.__C-ll,_Q:_l_.

AdL BTIL CIV. DA

(4) A-L B-1, C-II, D-IV

/]
4

A thermodynamic system is taken through the
cycle abcda. The work done by the gas along the

path bc is :

&

|

ised light beam strikes a glass surface
. "W ‘ﬂ'k Then :
" ‘ | | »
0 m!ldnruﬂecudmdrefncwdlusmm"h :
. lypollfind. g
' ' letel
flected light will be _cornp- y
(2) 'hell::“; but the fﬂrr.ﬂl‘d Ilﬂf will be 3'::'
ised.
p-ﬂhllypohr . : |
&)} the reflected li.rumilbeptrﬂllypomﬁ E
(4) the refracted light will be completely >
polarised.
P Np -_] L
5 lnmidulmfumu.diemmmm.s.g_; ;
T]Ierllioif,:l"pisequllto(dlcsymbt’lsmy Y
lheifulll‘lmmi"s):
(15 @ 1:4
e @ 2:1

.ﬂlogiccimuitprovidﬁdleompm}’asperﬁe

following truth table :
A|lB|Y
#-0 ool |[>AR=Y
3_':__ 0|1 |Q|=>AaTR=Y
ey Ljo]1]|a A=Yy
11 ]ofo>Ag=y ;

| 1=

The expression for the output Yis :

B I0ID (2) B ?0
(3) A.a+4'>, 4 AB+1 E
IR 0L f 41 A

In a vernier calipers, (N + 1) divisions of vernier
scale coincide with N divisions of main scale. If
| MSD represents 0.1 mm, the vernier constant
(incm)is :

(1) 100N 10(N+1)

2

1

(3) ) W

| Contd--
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Sk g5

s The maximum elongation of a steel wire of | m
jength if the elastic limit of steel and its Young’s

e . e - 16
(1) 40mm 2} 8 mm
- (3) 4mm (41N 0.4 mm
N

’ ammmmn&uummh.

shown in figure. The magapf blocks A and B are

2kg and 3 kg, respectivelOThe blocks slide over
a frictionless surface. The force exerted by block

o
F=10 B N
e 4 KL
(1) 6N N
(3) zero - (4paN

If the monochromatic source in Young's double
\;wch—h by white light, then
Vv there will be a bright white fringe
surrounded by a few.goloured fringes.
(2) all bright fringes willbe of equal width.
(3) interference
(4) therewillbea

12

13

14

thuMhﬂww
between terminal A and terminal 815 :

o~
(1) 0.5uF @ 4 pF
3) 2uF (4) 1pF
o
I, = I
Iy ™~ ]n
Solenoid - | g Solenoid - 2

In the above diagram, a strong bar magnet is
moving towards solenoid-2 from solenoid-1. The
direction of induced current in solencid-1 and that

in solenoid-2, vely, are through the
directions: L
(1) ABand CD #3) BAand DC
(3) ABand DC a) BA and CD

- - w %
Consider the following statements A and B and
identify the correct answer :




H 0

Jtage of the W‘I mq\‘ll‘

Iv
The termin® ™ qance 12, when
l’ 1o and internal resistance

| resistance of 40 2 shoy,

B
(4) 6 vV
3 o J @) 1% &
List
5 nm
@) —{3 @ % (Spectral Lines of (Wavelengths (nm))
Hydrogen for
16  Given below are two statements: one is labelled transitions from)
as Assertion A and the other is labelled as A m=3tom=2 . 4102
Reason R. L3
et ) B. n2=4ton|=2 . 434.1
Assertion A : The potential (V) at any axial point, 2y
at 2 m distance(r) from the centre of the dipole C. m :Qf li m=2 m. 6563
. = : D. m= m}q=2 IV. 486.1
of dipole moment vector p of magnitude, . ;
Chmsetk&mctmmrﬁun the options given
4x10%Cm,is +9x10° V. helnats
! 9 (1) A-IV, B-II, C-1, D-II
(Take 7o o= 9x10" g1 units) (2) A-L B-II, C-MII, D-IV

(3) A-ll, B-I, C-IV, D-NI

Reasea R : Pttt b g | | (9 AMBIV.CE DI
hq,r: - e 4
distance of any axial point, situated at 2 m from! | 20  1fcist ity of light i ace, the correct
the centre of the dipole. statements :bwtw among the following
are :

Lo the light of the above statements, choose the
The energy of a photon is E = hv v

correct answer from the options given below:
The velocity of a photon is ¢.

A
(1) A is true but R is false. B
(2) A is false but R is true,
(3) Both A and R are true and R is the correct C. The momentum of a photon, p=".
D c
E.

explanation of A.
4) Both A and R are e and R is NOT the ::;;“x::#m collision, both total
correct explanation of A. momentum are conserved.
The moment of inertia of a thin i Cnehon possesses positive charge
SR TR0 it s s melﬂmﬁﬂnmtﬂﬁiﬂnﬁﬂﬂn

passing through its mid point and perpendicular
mmmw.mmnfu@" g

- "
A o
/ 207em = (2) 20ecm P

L (3) 85cm y (4) 175cm =
T3 _English | 4
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instant f i
g A '!U;. p liv:n :‘Ile . the displacement of any
‘.’""' Y 2t~ (8] unit) under the
influence of force of 5N. The value of
instantaneous power js (in 81 unit);
@) 6 ai-)
4) s +.5N
The output (T) of the given logi is simi
i OgIC gate is similar

Nk, AR

T
oR-
QQ(EORQ.:N: (2) AND gate
(3) NAND gate (4) NOR gate

|
I'@{mohphmt is T%'“lﬁtofﬂ:ewﬁmd
i

its diameter is half that of the earth. The
acceleration due to gravity on that planet is :
(2) 392ms?

iven

¥ Given below are two statements :
Statement I : Amgg%@tw_?ﬁ! as
they contain equa number l’o____"."_“"
negative charges.
Statement 11 =Wﬂﬁh‘w“ﬂ°

and emit their
il the 1j mmwﬁ

& |8

most appropriate answer from the options given
1 below - ; is
. (1) Statement I is correct but Statement II
incorrect. w’ Ilis
. (2) Statement 1 is incorrect but

©) Both Statement | and Statement Il are

| m ement | and Statement 11 are

"3 English 1

26 A wheel of a bullock cart is rolling on a level
road as shown in the figure below. If its linear
speed is v in the direction shown, which one of
the following options is correct (£ and ( are any
highest and lowest points on the wheel,
respectively)?

o
Both the points P and Q move with equal
speed.
Point P has zero speed.
Point P moves slower than point 0.
Point P moves faster than point Q.

(n

(2)
(3)

(4)
h . h ﬁ H . = . - =
d— — A particle moving with uniform speed in a circu
) 2 LR Rath maintajns ; e
% 5:: ' ['—' \Sg/constam velocity but varying acceleration.

varying velocity and varying acceleration.
(3) constant velocity.
(4) constant acceleration.

A thin flat circular disc of radius 4.5 em is placed
gently over the surface of water. If surface tension
of water is 0.07 Nm™!, then the excess force
required to take it away from the surface is :
(1) 1.98mN (2) 9N

(4) 198N

18

(3) 198mN
49ms-2 @' In a uniform magnetic field of 0.049 T a magnetic
v:g’]g.s m s2 }a (4) 98ms? )ﬂ _ é needle performs 20 comflete oscillations in

_ignondsu shown. The moment of inertia of the .-
needle is 9.8 x 106 kg m?. If the magnitude of
magnetic moment of the ncedle is x x 10~ Am?-
then the value of 'x” is - L K

o.ou9
::ﬁ' ..:"g
ST

20

2 D 12
M) sox® Y (2 128022 * ]

@ s 0 W 22— \rvo
Two bodies A and B of same mass under b
completely inelastic one dimensional collision.
The body A moves with velocity v, while body B
is at rest before collision. The ivelocity of the
system after collision is vy. The ratio v : vy is :
(1) 41 2) 14

) 1:2 4) 21

o8 =

6

L)

Y
o

T ]

lo=S
e

¢
9.¢X10 L

R

—

-




I l
ph represents the T-V curves ﬂ'
T is the temperature and
" {he motion of 8] ¢ three pressures Py, P, and p. |
|fx-ssin(m + -—W’ the volume) 8 sl ek Bl |
@ icle enmﬂin] simple harmonic motion. the B S e !i ’ 4
:dmlmmﬁﬂ:grﬁaﬁ'm;ﬂ"'% , e
wre |_ A
() Sem,1s ‘rg.{-ﬂ/sm.ls . )
A® Sem. 2 Wen () SM.28 :
) (
The quantitics “"‘u have the same dimensions P
f% as those of solid are
—(1) simin [T
)q(;l‘,anguh:qﬂdmdﬂms E
and angle r
(4) stress and an N B ;-ﬁ:aﬂ (4) A=A P » h
A thin spherical shel is charged by some source- 37  Aparallel Plldﬂp“m”cwwmm“l o
The potential difféfince between the two point3 b a batterfthrough a resistor. If 115 the currem n
C and P (in V) sho@h in the figure is: in the circuiff then in'the gap between the plates: 3
' (1), displackMent current of magnitude equal to
(e ——= 9% S ) A fows W a direction opposite to that of 1. |
0 * (2) +displacement current of magnitude greater {
than I flows but can be in any direction. a Al
- e’ O (3) there is no current. , st
e o (4) displackehent current of magnitude equal to :
h .F I ﬂawsHt.he same direction as I ; dut
— ™ J The pmpertx-qhich is not of an elecuom;gmﬁc I
WA\ wave travelljgg in free Space is that : i ¢
1) 05%10° Y0 (2) - e |
() 3%10° % \_m/ﬁhm! (1) they trdd@1 with g speed equalto T ¢ | O
34 Abobis whirled in a horizontal plane by means o (2) they originate from charges moving with
of a string with aCinitial speed of @ rpm. The uniform speed. v ; ;
tension in the strif is T If specd becomes 20 | f:‘“ o asgransverse in nature. ¥ @/&
while keeping theSime radius, the tension in the en@ly density in electric field is equl | 0.
string becomes : ') to energy density in magnetic field ' -
T N : ‘J Choose the gty oy l' I -
(1) -~ N @2 2 2 Wkig bk ' circuit which can achieve the cn
) R wi
(4) 4T & %
for
A wire of length ‘" and resi
resistance 1000 | b
divided into 10 eqlpl parts. The fi L (1) % (1
connected s oA e @
9 connected in 1,-[;:&"““‘5 rts are
f again connected i 1he two combinations are
onoy Sistance of this
BEEEND @) son o
(3) 260 @ 520
T3 English | :
! 6




I:-Fyh
y>Faye
by connecting

‘1 is the current
een the plates
nitude equal to
te to that of |
gnitude greater

gnitude equal to
mas L

ew

1
i g

ges moving with

tric field is equal
stic field.
h can achieve the

of a parallel plate capacitor connected | 44

. « are moved close to each other, then

]
he charge stored in i, increases.

(he ENCTRY stored in it, decreases.

s capacitance increases.

-. {he TAtIO of charge to its potential remnin;
the sAMmc.

the product of charge and voltage increases. | 45

"
A
A
¢
n

E
(ho0sE the most appropriate answer from the

il B.DIN’EO’“I}' (2) A,BandC only
] EBIM Eﬂ“}' (4, .ﬂ.ClndEunl}'

. gmmb}‘ F=w2+pr acts on a particle
e r. The factor which is

s 4 given tim

gimensionless, if a and P are constants, is: 46

|
LW e ) “9:/

A @ %

4 metallic bar of Young's modulus,
epansion 10-3 9C=1_lengt 3-%5_..4uuor
crss section 10-3 m? is heated fiom 0°C to 100
‘““mw:mmm’
force developed in it is: ;

1) 100% 103N Jo @ 2%10°N e

) Sx10N_ S0 1°N_

—_—
\%"ﬁl’
;i1

47

' meilshowniﬂﬁ""'m

M.
An iron bar of length L has M"'“"‘Mw

It in bent at the middle of its
two arms make an lﬂlllﬁﬂ"wiﬂ! each other. -

magnetic moment of this new magnet is:
L)
(v I 1

M
@ 3

(1 2M
) ™M
Alﬂﬁi’mwilm

the circuit is nearly (' - J‘”] :

(2) 0354
(4) 0934
pnwntilgofl kW
Those two are first

(1) 1204
(3) 0584

Two heaters A and B have

and 2 kW, respectively.
connected in Hri:suﬂmminpudklmuﬁxd

mrm.ﬁmﬁnﬂfpﬂwﬁmhm
two cases is:

{1y .1:2 (2 2:3
3 1:1 4 2:9
mwbcily{v)-ﬁm{:}pbtofda:mimofl
body is shown below :
é -
T
PR -
The acceleration (@) - time (¢) graph that best suits
this motion is :
T T
E £
(m 1 @ T
Ha)> t{s)—
TP
g i
3 * AL
) 1) @ —
[ Contd...




Y4

™
\}’Aﬁ g (2) "?

I'mii
in & simple pendv
If the mass of the bob in & and its length

increased to thrice its origing o time
is made hal( s origial length, then the A€
o
X " inal thme
: o d ils origina
mﬁm.lm-ﬂh 3 1

period. Then the villhe of x is:

&) Jif

o

The minimum ired to launch a satellite
of mass m from therpurface of carth of mass M
and radius R in a §kular orbit at an altitude of
2R from the mﬁ-%rm- carth is:

GmM GmM
M S 2) T3g

SOomM
&R

2GmM
4) iR

(3)

23120

A sheet is placed @Na horizontal surface in front
ofa smmgmamcm pole. A force is needed 1o -

A hold the sheet there if it is magnetic
B.  hold the shegighere if it is non-magnetic.

C. move the n.hat away from the pole with
uniform velaipy if it is conducting.

o
D. move the shegt away from the pole with
uniform veloldy if it is both, non-conducting
and non-polar

Choose the corregytatement(s) from the options
given below: N

()
(I} A,CandDony

o
(2) Conly o
(3) B and D onl}P
(4) AandConly

[ Cwem

T3 _English |

Ry A (Q. N
_.-—'m . Sﬂﬂw‘- Q n‘m

List 1 ]
(Numj,,
jon) Ui
(Conver® o l’uu.,
il o{}.ﬁﬁﬂﬂl L IF
L~
3 O
Mn
_ 1.5 mol of o oS
molten CaCly

; Im[dFﬁmF‘JO! V. sF
below: o

1)) A-llL, B-.ﬂ C-1, D-IV

@) AT BN, C-1, D-1

(@) Al B-R§C-L, DIl

@) AL BA®, C-1, D-II

Which reaction is NOT a redox reactica?
Hy+ C|D~+ 2 HCI
(2) BaCly +(N,SO; — BaSO, +2 a0
(3) Zo+ CuS®), —» ZnSO, + Cu
(4) 2KC10gg§1; —* 2KIO; +Cly
o~
IntramoleculaPhydrogen bonding is presens

Fﬁlh“l ‘o“ﬂli ‘A‘ i! “
\FU} 'I.““ﬂnolulion of sodium pob¥
& tartrate lle"s salt)
. { } “Wmm Citrate
Ue0us copper sulphate g
= (4) alkaline Copper sulphate

|f"ﬁ




ur
rlru"
pEeL.
m m f i

gom of sodium hydroxide
4 :5 3 of 0.75 M HCl solution, the mggs
;,‘v xide left unreacted is equal 1o
pt Zero mg (2) 200 mg

) 150me (4) 250 mg

of sy

wiatch List I'with List 1, o
pList 1

D. SFs V. Square Pyramidal
(Choose the cormect mmrgun the options given

F—

<

below:

@) AL BV, 1, parY
@ AL B-I, C-IV, D-l;,:
@) Ad, B-IV, C-II, D-lligy

B-IV, C-11, D-
W ALBIY, I DI

¢ The E° value for the Mn**/Mn?* couple is more
positive than that of Cr**/Cr?* or Fe¥*/Fe?* due
to change of o
(1) @10 d* configurationy
2) & tod* configuratiopy
@) d° 1o d* configuratiofl
i4) d’mﬁmﬁmk&“

Match List 1 with List 1.
List I List I1
A heat exchange
B o jed out at 1
@énstant temperature
C : ied out at
nstant volume

D. Adi . Carried out 8t

stani pressure

-'m:-; :ﬂ' the opticns given

below.
\(p';/\-l, B-11, c-nil, D
Al B, C-IY, D

() Av'B-m, G-, D:AO
@) Adv, n.u,c-m.ﬁ

h'-"lh |

-

hemical feaction can
the value of :
orientation of reactynt molecules during

collision. »
rate constant at two different temperatures.

rate constant at standard temperature.
pmhbililyofagikl’- »

Activation energy of any ¢
he calculated if one knows
(n

(2)
i1
(4)

A compound with a midlecular formula of CeHia

has two tertiary carbord. fts [UPAC name 15
N 2,3-dimethy buthbb—

e, z,z-dimlmﬁ

(3) n-hexane @O

(4) 2-methylpentane

‘Spin only’ magnetic Elnﬂﬂ is same for which
of the following kons”

A. T S =

C. Mn* % Fe?*
E

Choose the most
options given below: (g
(1) BandC only

(2) A andDonly

(3) Band D only

(49) AandE only O

Arrange the fullow"N clements in increasing

order of electronegatpryy: > N>O
N, OFC Si v
Choose the comrect angyrer from the options given
below: 7]
(1) O<F<N<C<Siy
(2) F<O<N<C<Siwp
(3) Si<C<N<O<F
Si<C<0<N3

jate answer from the

Which one of the following alcohols reacts
instantancously with@hcas reagent? 3*ale -
(1) CH ~CH-CH R 2

CH, W X

CH, .

uz;/cul-i::'-ou ﬁ

CH, el

™
(3) CH,-CH,-CH{NCH,QH | w

() cH,-cHy- CHPH 1

CH,

| Contd...
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IQGim below are two statements Y

Statement 1 : Both [cotm‘-‘}n]h wd [cot, ]

complexes are octahedral but differ in their
magnetic behaviour,

Statement 11 : [Cn{NHJ}n]h is diamagnetic

v whereas [Cnrﬁ ]‘;}plllmlpm*:- old, 10,1
In the light of the above statements, choose the
correct answer from the options given below:
(1) Statement | is true but Statement I1 is false.

-— (1) ment | is false but Statement 11 is true.
Both Statement | and Statement 11 are true.”
(4) Both Statement | and Statement [1 are false.

Given below are two statements:
Statement I : The boiling point of hydrides of
Group 16 elements follow the order
*  H,0>H,Te> H;Se > H,S.
Statement IT : On the basis of molecular mass,
H,0 is expected to have boili int than
members of the group due io the

V'/ presence of extensive H-bonding in H,0, it has

! In"the Tight of the above statements, choose the

correct answer from the options given below:
(1) Statement I is true but Statement 11 is false.
— (2) Statement I is false but Statement II is true.
Both Statement | and Statement I1 are true.
(4) Both Statement | and Statement Il are false.

Match List I with List [1.
List I List Il

Quantum Number  Information provided

A . shape of orbital

B. . size of orbital

C. . orientation of
orbital

D. n orientation of spin
of electron

Choose the correct answer from the options given

i) AL, B1V, GoIL, D-1
2) Iﬁﬂm D-111

(3) A, B-IL, CAII, DIV
(4) A-IL, BV, C-1, D-1I

i

T3_English |
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Match List 1 with List 1" Lint 1 (Rengey,
List | (Resction) C:‘“h]
L
oy
A, C)( )-02 OJ
Mhyd..t\lql
€
8. O)- LrO,
OH , KMnOy/
C. —* —
g KOH, A
D. @, . ()0
GC“@ (ii) Zn-H,0

Choose the correct answer from the options'gjvm
below:
\ 47 AILBL, I DT
(2) AL BIV,CIL DML
(3) A-V,B, C-IIL DIl
(4) A-II, B-I, C-II, D-IV

Identify the correct reagents that would bring

about the following transformation.

(O—cny-cu=cny -
()—cu,-cn,-cuo

(1) () BH,
(1)
(iii)
(iv)

2) ()
(i)

3) M
(i)

“ M

<]
H,0, / OH
alk. KMnO,
Hp* "
H,OM*
PCC
H,OH*
Cro,
BH,

(i) #,0,/GH
(iii) PCC




l Cnlﬂ.-

- Emm options frbm (he Riven below -
v M andp
£ Band C ) A and D

m List I with List 1. @

"

A Tollen's reagent ol
p. Schifl's reagent

c HCN

D NH,OH - o

E— N-ﬁﬁﬂ, LV N

List 11
m-'i!f"h (Numbyr and types of
- ( - bond#between two
i urbu-\.tunn)
B A &8 o-bond and
n-bonds
J B n-bonds
_ . one g -bond
D. . one o -bond and
dme x-bond .
Choase the correct answer the options given

!
[ \:3 A-I]l.B-Ncu.D-lm

@) AL BV, T, D- uN
3) AT BV, C-IL, DY
(4) A-IV, B-IIL, C-II, D-1

Among Group 16 elements, which onc docs NOT

-2 state?
(1) Tewv w2rtdo
) Ov w;ga v

Ifwﬂnm ﬂssﬂ. K, =4x107, Ata

given time, the compositi ot'mcunn mixture
is: [A]=[B]=[C]=2x10 M.

| Then, which of the fol is correct? -
) mmm-w;@wﬂmmwﬂd
2) Mmhsgmcwﬁlmhbﬂmf““"”ﬂ

L Itmnun is at equili

) Rumonhnsntm:lmcj’mplﬂf"wd
W direction.

h.t“ll

he reagents With which glucose
!;u the corresponding lcshfpmdu:L\__d

V4

11

@/Which plat of In k
4 Arthenius equation?

vs 4 is consistent with

%{
L
4

!
m =

(3)

%
§

In which of the ronqqn, equilibria, Kp mﬂ K,
. are NOT equal? N

| €O+ HOug* g * Haw
() 2BrCly, = Bryg+ Chyy

3) PClgpy = PC'B) +Clyg

@) Hyg+ by =N Hig

H LR.p (— \
Given below are m-q:qnnmum h-mmd..,;"
Statement I : The bdiling point of three isomeric

/" pentanes follows the

n-pentane > isopentane > neopentane

Statement I1 : When branching increases, the

molecule aftains a s of sphere. This results

in smaller surface for contact, due to which

the intermolecular fi between the spherical

molecules are weak, fhereby lowering the boiling

point. o™

In the light of the aligye statements, choose the

most appropriare answer from the options given

below: :

(1) Statement I is berrect but Statement 1l is

incorrect.
(2) Statement L is ﬂoﬂwl but Statement Il is

i N
Both Statementbepd Statement Ll are correct.
(4) Both StatemeW® | and Statement Il are
i &

| Contd...



SN' — 3°%1' ¥’
CN" = 452 >)

The compound that will undergo l“-' reaction
with the fastest rte is

L]
n O e

n O’F ) O;"'

d

77 The encrgy of an clectron in the ground state
(n = 1) for HeYlon is —x J, then that for an electron
= 2 staté for Be'* jon in J is : Iy
mn Rc( lﬂ) v
4
(1) -—4x @ -3 co )
n
x ATy B ) :
(3) -x (4) "5 1 o
-2 | T
™

In which of the following processes entropy
mersases? AS A - q-m-t.»nwg :

A. A hiquid evaporates 1o Vapour, zﬁ‘ P

B. Temperature of a crystalline solid lowered
from 130 K to 0 K.

e TQ.I.HC()1I| 5) » leCO]{“ + co'lm"' HIO‘.}
D. ClM—il CIW
Choose the correct answer from the options given

below:
(1) A,.CandD  (2) CandD
(3) AandC (4) A,Band D

On heating, some solid substances change from
solid 1o vapour state without passing through
liquiasTate. The Technique used for the
purification of such solid substances based on the
above principle is known as

(1) Distillation ¢colid — vapowy, .
(2) Chromatography
3)  Crystallization

Sublimation

T3 Englay |
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f

sn  Match List

<D v

-

| with List I1.

List I (Type of
)
List | (Complex :
. [cofrmy)y (N0p) )l —_ L. Sobvue

: :
B. [Cﬂ{"”:),‘mdl]n' NS -

; e

C. [Co(NHJL] [Cr(C'H)‘ll . lﬂﬂlﬂ“ﬂl

g -
D. [Cn(H:O} ! ](:1J IV. Coordination
: 1s0meTism
Choose the correct answer from the options givey

below:
(1) A, B-IV, C-III, D-II
(2) A-IL B-IV, C-IIL, D-I .
(3) AL, B-II, C-IV, D1
(4) A-L, B-III, C-IV, D-II

Given below are two statements:

\)‘mth Aniline does not undergo Friedet
Crafts alkylation reaction. :

= Statement II * Aniline cannot be prepared throug®
Gabriel synthesis,

In the light of the above statements, choose the
correct answer from the options given below:

(1) Statement | js correct but Statement Il B
false.

(2) Statement | js incorrect but Statement I ¥

d\*’(:di Statement | and Statement 11 are o€

(4) Both Statement | and Statement I1 are fals

| Contd-
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order ¢

Li, B«
Choose
below
(M Li
@ L
M Li
() Li

The hagh
¥ (1) 4g
@

Y im

4) 4w
—_—



§s
‘u i c" A’ J‘" -""') b & » - "
W Cea L.
e fottowing ctemell " 1 [ Coeminiry  Section-B (@ Nb. 86 10 100) |
pilowing ¢ ‘ ; h —L B ad
] mmdm mw":mmh¢ in mereasing | Rg A compowmnd X contains 12% r:f,.l.,ztw.ol'ill_lnd
remaining percentage of C. Then, the empirical
Lii Be. B. C. N formula of X is ¢ co
M*mm“‘“hm“ighm {Giiven atomic masses of A = 64: B = 40: C =32 u)
hebow e
i (h AR, (2) ABC,
m u <BeN M ABC, 3 @) ABC, Sl
Sk chcc 20 4>
n l-i‘-&‘n‘l{_t;‘u /ﬁ“ p
The products A obtained in the followmg
() Li<B<Be<(CeN r reactions. respectively. are
P Kﬂ* &
The highest number of hel; bk RQH o-ﬁ‘ﬂ;ﬂgg.}{g|+a,p¢l_l
¥ (1) 4gofhelium U - 35 (1) HyPO, and POCI,
© (2) :.:nuuLon-el-nnsm-"gﬂ-,g_(@ sﬁfﬁﬂm%
\))l/lndoﬂwhun S o (3) POCI; and H,PO,
(4) 4 uof helium 025k @ POCH and H,PO,
| — “1'3 ___,__,_J.-—':,
‘ Tl 1[0
; m“ﬁwmmlowing B8 The plot of osmatic pressure ( [1 ) vs concentration
/ i (mol L-") for a solution gives a straight line with

() O—aﬂ.,) -
' .
@ O)’

&

W{,ﬂ,ﬁxﬁfg

B The Henry's law constant (Kyy) values of three
Bases (A, B, C) in waler are 145, 2%10°5 and
35 kbar, respectively. The solubility of these gases

1 water follow the order-
) A>c>B (2), A>B>C
L G) B>A>¢C (4) B>C>A
" English | 13
L.

g

slope 25.73 L bar mol™!. The temperature at which
the osmotic pressure measurement is done is:

(Use R = 0.083 L bar mol-! K-
(1) 25.73°C (2) 12.05°C
3) Ir*C (4) 310°C

For the given reaction:
" KMnO/H* e
O—{' cH KMoO/H*

H —— (muajor
product)

‘P'is

() (}ﬁ_z:_o )
v Oy

@ O-cno ¥
@ (O-coon 2

@ O— C,'A_:C.H‘Q | Contd...



Gfﬂﬂhlﬂﬂﬂmw'-

/£

V)

.f complex wlll'Bl [c"[ml.l]@‘
hcmlwli:uvnﬂ'!-

m
Statement 11 : CéNplex [c"{ NH, ),
™~

Statement 1 [ru.( NH.,‘]‘]‘. is # homoleptic

is &

LT3
] has only

‘rﬂ

0 iy
one kind of ligands Wt [(‘n{NH,LCIZ] has

more than one kil of ligands.

In the light of . i
correct answer fgg the options given below:

(1) Statement |Dtrue but Statement Il s false.

(2) Statement 1\@ false but Statement 1l is true.

{(3) Both Statement | and Statement Il are true.

uﬂfﬂmh&umsu]-ndmuﬂmumﬁhe.

™
During the ion of Mohr's salt solution

(Ferrous ammopjym sulphate), which of the
following acid ispegdded to prevent hydrolysis of

Fe?* jon? o
(1) dilute nitric acid » 20
dilute sulphyric acid — Rl
. supﬁglc l.l.:l I T
(3) dilute hydrapploric acid — q 0©

(4) wnmﬂulphuric acid o ﬁ;&

o
92 Identify the corrggy answer,

(1) Dipole moment of NF, is greater than that
of NHy.

(2) Three candiieal forms can be drawn for
coi” io"-;q-'

(3) Three
ozone.  \p
(4) BFj has non-zero dipole momey

T3 Englek] . .© .1 . .

Structures can be drawn for

statements, choose fhe |

5

ﬂd"'w ‘

14

£

N
/ Consider the ffilbwing react;

miom-U’hl_i“"Ullin
umhbwﬂﬁ'_"“h ; them in increasin | g7 The)
qualitative anaBE o Vi, 5 from
" P
l'l;ll"l' B Cu? e
Al ™ H
ol R o (Giver
B ME' N er from the OPtions give, m 4
Choose the coreft @ N
helow: ™M (3) 0
() EC.D A =
) EABCD
k)] B, A, D, G5
@ B.CAD.E T ccn
- '. c . ¥ |
Identify the mgjor product C formed in the copper |
rmminsww . (I(:“;
NaCN =
C‘*_'rf“:'qc:ll" 5 M 3.
0 NaOH (3) 3.1
e B (S
Partial o j .
(1) butanami i reaction
2) a- ic acid
(3) propylampe - "ﬁ
(4) butylamiye) e N
o~ €
The rate of @ reaction quadruples when |
temperature ®hanges from 27°C to S7°C. HyQ
Calculate the energy of activation. ) ,-

Given R =8.314 J K™! mol™!, log 4 = 0.6021 |
(1) 3.80 kimg} Y - e :
(2) 3804 kimg 7 {.‘ﬂ 4 °.
- () B0kml — 93> ST
- 3B0AKVEDI® . oaf g0°
in a sealed vessel

at equilibrium concentrations of
Ny=3.0%x107M,0,=42 % 10" Mand
NO =238 x 10cHM.

N
Ny ™ Mo * Ox)

1f0.1 mol L-! “l'NOm is taken in a closed vessc:

what will be

at equilibrium®0
0.8889 )

(3) 0.00889 »

100
of dissociation (o) ofNOg

@ o7
(4) 0.0889 P

{ Contd-

___4-__

N

Hy

@ ,.

The pair
s

(1) Gq
2) Pm
G) ce
@) ce

T3 Engiiyy



in the

when
ST,

e+

i vessel

i vessel

of NOgg)

Contd-

|

? (Given R = 2.0 cal K~! mol-1)

The work done during reversi
expansion of one mole of hyd
from pressure of 20 atmosph
is:

97 ble iwthtrmﬂ

TOREN gas at 25°C
ere to lﬂntmmph,m

(1) 413.14 calories

| | (3) Ocalorie foy

! (2) Ioonlloriesjo
) 413.14@«*;9 -~

Mass in grams of copper
9.6487 A current through a voltmeter containing
copper sulphate solution for 100 seconds is:
(Given : Molar mass of Cu : 63 g mol-!,

IF = 96487 C)
(1) 315g )
(3) 3.15g =

deposited by passing

@) 0.0315g »
@) 0315g

Major products A and B formed in the following
reaction sequence, are
OH
H

-
[ Botany : Section-A (Q. No. 101 to 135) |

Identify the set of correct statements:

. The flowers of Vallisneria are colourful and
produce nectar. ke,
The flowers of waterlily are not pollinated
by water.
In most of water-pollinated species, the
pollen grains are protected from wetting.
Pollen grains of some hydrophytes are long
and ribbon like,
In some hydrophytes, the pollen grains are
carried passively inside water.
Choose the correct answer from the options given
below:
(1) M C,DandE only

B, C, D and E only

(3) C,DandE only
(4) X B, C and D only

»$%% 5

/Thetype of conservation in which the threatened
species are taken out from their natural habitat
and placed in special setting where they can be
protected and given special care is called;
(1) Semi-conservative methody
(2) Sustainable development w
(3)  in-situ conservation

Biodiversity conservation

Inhibition of Succinic dehydrogenase enzyme by

malgnate is a classical example of:
\Q))nczmpaiﬁve inhibition

(2) Enzyme activation

(3) Cofactor inhibition

(4) Feedback inhibition

Identify the part of the seed from the

Br
H
™ The pair of lanthanoid ions which are diamagnetic
' gt

b
nupuw

(1) Gd** and g3+

given figure
to form root when the seed

which is destined
germinates,

@) Pm3* gnd gm3+
) Ce*andypr  _ offl o -
i (4) Ce3* ang g2+ e
~Engligh | - -
hi.. ,‘6'!' 15




ing is not a criteri
1ok owt of the follo¥ing 15 Pt 2l
Bulliform cells are napnmihic_fﬂr ! fication of £l_l_ﬂj"? ' The!
(1) Increased photosynthesis in monocols. y classi formation o
27 Providing large spaces ﬂ‘.‘ll: stornge of sugars. v (1) Mode of spore =
(3) Inward curling of leaves in monocots. & Cruiting g
(4) Protecting the plant from sali siress. v logy of mycelium o F
Rt =t v. () MOUREEE™ N w’
Which of the following @ required for the dark \“{ Mode of autrition - @
| reaction of photosynthe sid! P2 5
A, Light ™
B. Chlorophyll (N ow many molecules of ATP and NADPY ,,, | @
Sl v, N : ed for every molecule of CO, i the _
D. ATPV © AT . Spil
Ca,lvin cye |
E. NADPH I
Choose the correct lnswegwn the options given (m 3 molecules of ATP and 3 mo ““gs of chre
below: o - NADPH n
() C.DandEonly (2) 3 molecules of ATP and 2 mla& of 3)
» DandEonly (o "
G) A.BandConly oy NADPH S
(4) B.CandDonly gy 4 ,\M;‘ukculcs of ATP md,l_w_‘_‘&_ui of ¢
> ormation of imcrfasciculﬁr cambium from fully 1 _‘:‘.&QBH— 0 the
developed parenchyma cells is an example for (4) 2 molecules of ATP and 2 molecules of
(1) Dedifferentiation Y NADPH
(2) Maturation W o
(3) MBifferentigtionny ¢y o \
Redifferentiation @‘n\mmmw as major causes of biodrsity
. - ™
Hind Il always cuts DNAE)MCU les at a particular 1 - ™ :
point called recognition geguence and it consists v A.  Over exploitation o
of: (s} 5 F o
(1) 4bp () _10bp < s, o g 0 m
(3) 8bp 6 bp k€. Mutation @
Tropical regions show gredtest level of species v'D. Habitat loss and fragmentation 3)
richness because #/ Migration o \etj
/A Tropical latitudes haye remained relatively C 2
undislu:r'hed for mifions of years, hence “hoose the correct option: Sj #
more time was d%hilable for species () A,BandEonly y ™M A
diversification, 1
- A!‘
" B. Tropical environmdfis are more seasonal. Sl A Yy g A
€. More solar energy is available in tropics, () A.Can nly 0 B. |
D. Cons envi : . ;
e ] et O
I‘,{‘E. Tropical environmepts are constant and O |
predictable. ™ he capacity 1o generate a whole plant rooh amy Ch
b('eht?:c the correct am%ﬁmn the options given cell of the plant is called: .-m-i bel
: (1) A,BandE only #\D (1) Differentiation ) o g:
(2) A, BandDonly () Somatic Hybridiza: o~
(3)_A,C,Dand E onlyy O Ton Yoridization Y 0 L \@
A and B only Otipotency _ @
|Vl e .
T3 English | e~ - T3 gy
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e Rlr cq Ry
s for P Ry g :} qfﬂ-
! . ‘Fﬂg Ry
 a ;-["'"] " & plant, black seed color (BB/Bb) is dominant
. LX) over white seed color (bb). In order to find out
o From this equation, X indicates: the genotype of 1 plant, with which
N Carrying capacity of the following ge will you cross it?
g (2) Population density (1) Bb ' sy (ol Ble
INAm. - (3)  Intrinsic rate of naturdlhcrease (3) BB 8‘) bb Yo b
'2 ﬁx% the (4) Biotic potential g Ry 4 L
/ 0 /e\ pink flowered Sn#Sliragon plant was crossed
molecy Spindle fibers attach to kinetochores of 1 *it:;::gww agon plant, What type
ks g (1) Anaphase () {Kglophase (1) Only pink flowered plants
o - Q) Prophese g‘*hﬂu (2) Red, Pink as welips white flowered plants
_ (3) Only red flowerfd plants
%ﬂ Identify the type of flowers on the position e 3 e .
w' of calyx. corolla and with respect to Red wu”“u]ﬂllw plants
the ovary from the given figures (a) and (b) N
s : / Match List | with Lisig)
o List 1 List Il
o A. Two or more Back cross
)fblndﬂ:u', !I alternative
m : ™) * forms of a
g Y N B. Crossof F, Ploidy
LVs) (1) (a) Perigynous; (b) Epigynous progeny with
(2) (a) Perigynous; (b) Perigynous homozygol
n ‘2){(!1 Epigynous; (b) Hypogynous recessi
- (2) Hypogynous; (b) %ﬂmi C. Crossof F, Allcle
N e o RN ™ progeny W
g Match List I with List Il & & any of the ats™
o~ : D. Number Test cross
a A. ‘ﬂuﬂtmm PR o
) B. . Smut fungus S (1]
C. i mould sets in plant
l D. : fungus Choose the comrect ansyver from the options given
o . below: o™ %
Choose the correct answer ffim the options given
lant ﬁ“'_‘ Lol below: ~ AT Adll, BV, Cih
™ : (1) A, Bl C-1, D-IV {: (2) AV, B-IIL, C-RND-1
g ‘ (2) A-IV, B-1ll, C-I1, D-1 ) AL B, c-uﬂw
0 L N\&T A, Bl GV, DL (4) A-ll, B-L, C-lII, DAV
(4) A-L, B-UL, C-lI, D-IV

T3 English | 17
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Lecithin, a small molecular weight organic
compound found in living tissues, is an example 1

Awmwﬂ““""'m mmdu-eu.m :
brﬁ‘“'“""‘ ﬂddmmm .

= . Structural gene
(n Tmniy.,
(1)) Glmndu? ’:b/ ngm, Structural g,
(2) Carbohydrates ¥ (3) Rﬂ""“’ﬂ, Transposons, Opersicr,
(3) Amino acids W e (02T 4
Phospholipids : of of DNA carrying ,,
o | et e
fuuuc:ttmmun I il :'lﬁ""'“;ﬂafwgmumbwm‘ ™
o : )a fmdemlym!htmﬂlh Iy
A. Clos Ethano the organism - a
B. Itmay get MM i o 4
B. Streptokinase recipient. 0o
X 5 It may moltiply and be inherited skog ¥
: } n, The alien piece of DNA is not an ineg
; . part of chromosome.
D. Smeptococcus Cyclosporin-A

Choose the correct answer from the options given

be
\my.:malun

(2) AV, B, C-ill, D-I
() A0, B CILDIV
(4) AL BV, C-1l, Dl

In the given figure, which component has thin
outer walls and highly thickened inner walls?

f@iuiﬂhuuﬂ Isyg-dummprwm&

n;bnmmtnymrtplmm |
>6 cmmwmﬂﬁmnoﬂmw .

'\l?:!lnd(:unly @) wandEonly) |
y0 (3) 3 and B oaly (4) Dand E only

lawns. But no damage is caused to grass as s
(1) does not affect mature monocatyledonx
plants

]

(2) can help in cell division in grasses, !
growth.

i -

L_(J-)/prﬂlﬂnlﬂlpmldmmmce
i 4 prmumﬂmhmmofmhmoﬂ
(@’ﬁhmﬁ:mofﬂnmﬁmW‘ ¢ :l
(3) Zinc ~ \1‘6 m_
|
.@ lhlmilminthummhgndiuﬂ"_ b
which of I'Iu foMowing is an example of (1 P -
Iﬂimmﬂ'Ph“' ver’ (2) Polymerase »
(1) Pisum (@) Seshania S
4 galactosidase
3 Datura (4) Cassia ) .\mm? .
» Contd”
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Which one of the follow
the basis of Mendel's La

A. Out of one pair of |
and the other is rec:

B. Alleles do not show
the characters a

generation.
C. Factors occur in |
plants.
D. The discrete unit
character is called

E. The expression of
mrilftg

Choose the commect ansy
below:

(1) B,C and D only
(2) ABCDadE
(3) A.BandConly

q“f.&.c.buu-:m

Given below are two |

v/!ul—-nL_

dmhy.mt
Statement 11 :

{"‘”‘i“ in B. l'huﬂ
Ingestion by the insec

converted into active
the insect gut.

In the light of the ab
Correct answer from 1

"7 Statement | is tr
@) Statement | s fa
() Both Statement
) Both Statement

h*‘“ﬁhl ]



r'mgm
)anal

l“
¥ cells

Hﬂf!

ong w

T ——

one of the following can be explained o
the basis of Mendel’s Law of Dominance? /@E‘“ﬂ below are two statements
! tatem ; :
A. Out of ane pair of factors one is dominany ol porvie h;:;, :'& 2::::ym- is living but
e FRETIN < :l:m“ "‘Gmﬂolmm‘ lack xylem vessels
B A T i g | e e e i
the characters appemg as gych in F In the light of‘
g the a
generation. )‘ ;": . {c;:-;'rm answer from U’;::::‘:;::z:ﬂﬂ
" et Statemen |
C. Factors oceur in P."tt:l normal diploid | = (2) Stltemerﬂl:: :‘a huthummm l:;:’f:::
"'"". o WWM!WMHIHM
D. The discrete unit controlling a particylsr | Both Statement | and Statement 11 are false
mnulhdftctoé e 10 Ol b i :
E The expression of onlytahe of the Sl Statement | : Chromb¥bmes become gradually

characters is foungin l*nohyhrid cross.

Choose the comect answer frgiy the options given

(1) B,Cand D only
(2) AB,C,DandE
(3) A, BandConly ?q
! r-l
A A.C.Dand E only b\
N
? o
F Given below are two statemits:
/Htl:@touh:milwpoupspeciﬁc
} -donhdbyam%

Statement II : Bt toxin(ékists as inactive

{Ilnlin in B. thuringien§id. However, after
ingestion by the insect the ifjaétive protoxin gets
converted into active form e to g€idio pH of

In the light of the above statements, choose the
correct answer from the optigns given below:

N7 Statement | s true bulglw' I is faleo
2) humalinfalubtﬁu
3) Both Statement I and

) Both Statement 1 and Statement i are false

tement l1 is true

11 are true

h"'II-M

ﬂl.e w light mﬁsm during leptotene

alilll.lnl II: The ing of diplotene stage is
recognized by dissqlftion of synaptonemal
complex.

In the light of the above statements, choose the
correct answer from the options given below:
(1) Statement I is tngbut Statement Il is false
(2) _Statement I is faldq but Statement 11 is true
Both Statement kahd Statement I1 are true
_(4) BodnSmmmﬁdSumtllmmg
Match List | with Li
List I ‘m
A. Nucleol

List I
Stte of formation
of glycolipid
Organization like
the cartwheel

. Site for active
ribosomal RNA

(N synthesis

D. Gol . For storing
apparatus o nutrients

Choose the correct answer from the options given

below:

(1) A-lL B-1V, C-l 1

(2), AL, B-1L C-l11, D4V

mﬁ:‘ll. C-IVel-l

@) AL BT CT gV

B. Centriol

C. Leucop

™

- o
List of endangered sp¥ies was released by-
(1) FOAM (2) WUCN |
Y GEAC ) WWF

| Contd...
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[ Botany : Section-B (Q. No. 136 to 150) |

15t
st | with L
136 The DNA present in chloroplast is: /M::: I"" Lllt“ ‘
(1) Linear, single stranded A : Genetic code 1
: , A. Fredef
(2) Circular, single stranded Griffith RGO
(3) Linear, double stranded a. Frencois) oﬂm:"
(@) Circular, dowble stranded &) "pl'""d.' : :
Md'lﬂd _ wafoﬂﬂlﬁu :
137 Which of the following are fused in somatic | ¢, Har Gob
Bybidization involving two varieties of plagty? | . Khorana - 6
(1) Protoplasts D. Meselson
(2) Pollens Stah er from the options
(3) Callus Choose the correct ”

(4) Somatic embryos

138 Identify the comect description about the given

(n
(2)

Cleistogamous flowers showing autogamy.
c""m inflorescence sh(jwins complete
autogamy,

flowers with well exposed stamens,

Water pollinated flowers showing stamens

(3)

142
(4)

with mucilaginous covering. .

139 Spraying sugarcane crop with which of the

following plant growth regulators, increases the
length of stem, thus, increasing the yield?

(1) Cytokinin

(2) Abscisic acid

(3) Auxin

(4) Gibberellin

T3_English |

20

below:

(1) A-ll, B-1I, C-IV, D-I

2) AV, B-1, C-I, D-IT

(3) A, B, C-L D-IV
Adl, B-IV, C-1, D11

Match List I with List 11

ground substance
. Enables glucose

transport into celt
Choose the correct answer from the options gy
below:
(1) A-II, B-II, C-IV, D]
(2) A-I, B-1V, C-1, D-11

atL R, -0, D

(4) ALB-I, CIL, By

Given below are two statements:
Statement I : In C; plants, some O, bink

*InC, plants, mesophyll cells
- ’ y u
very little photorespiration while bundle ¢

e 3

¥

g} "t Lis false but Statement 115"
} Msmm"lﬂdstatememumﬂ‘

°nt | and Statement Il ar¢ ¥
[ Cont®
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mm step in tricarboxylic acid cycle, which
does Nt involve oxidation of substrate .
n Succinyl-CoA — Succinic acid

@) Isocitrate = @ ketoglutaric acig

o Malic acid — Oxaloacetic acid .

@ succinic acid — Malic acid

Match List 1 with List 11
List1

A Citric ac

1

List 11
Cytoplasm

Mitochondria)
matrix
Intermembrane
Space of
mitochondria
Inner
mitochondrial
membrane

Choose the comect answer from the options given

below:

(1) AL, B-IV, C-1, D-II

(2) A-IV, B-IIL, C-II, D-I

(3) AL, B-IL C-III, D-IV
S B-1, C-IV, D-1iI

WS Which of the following statement is correct

regarding the process of replication in £.coli?

(I) The DNA dependent DNA polymerase
catalyses polymerization in 5’ 3" as well
83" 55" direction.

@) The pNA dependent DNA polymer:ne
catalyses polymerization in 5’ -3’ direction.

() The DNA dependent DNA polymerase.

Catalyses polymerization in one direction
is3' 55",

) The DNA dependent RNA polymerase
Catalyses polymerization in one direction,
that is 5* 3,

: h-"llhﬁ ]

~

2]

7

Vy
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p

C(r

In an €cosystem if the Net Prim

"’"’?} GW’
100 (h-;,;n 2

-

100 2 A

146 3
ary Productivity

"o
- -2y -1
(3) m(h’ﬂ!m ) yr ‘5"'00!

(4)  x(keal m2) !

————
atch List [ with List Il
List1 List I1
Twisted aestivation
Perigynous flower

below:
(1) A-IV, B-1lI, C-II, D-1
(2) A-II, B-III, C-IV, D1

\3¥ AL B-IV, C-
@) Al

I, D-I

AT 0 v

List I
Species-Area
relationship
Long term
ecosystem
experiment using
out door plots
. Global species
diversity at about
7 million
. Rivet popper
hypothesis
Choose the correct answer from+he options given
below:
(1) A-lL B-lL, C-I, D-IV
(2) A-lL B-1V, C-11, D-1 .
=11, B-1Il, C-1, D-1V

3)
M-m. B-L C-IV, DUl

Fa
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149 Match List I with List 11
List 1 List 11 :
(Types of Stamens) (Example)
A. Monoadelphous ¢& Citrus
B. Diadelphous S Pea

=i

C. Pnly.dclphous M. Li below :
D. Epiphylio ¥ (1) A-l, B-1, @V, D-1I
- Epiphyllous 3’ China-rose (2) AL BV, i, D-1
Choose the comect Il‘lwer from the optiom SIWH (3) A-l, B-I1I, ’ D-IvV ;
below: S ALV, B-I1, T-1, D-II
(1) A, B, CIv, Rm Mok et 1 wiiiiot
Q) AL, B-1, CAVegIl 4 List I N -
) . iy
(3) AV, B, 4, gm § A. Nowmed : Sy
B. Copperreleas . i
) AV, B, C, gm C. Hormone releggjng | . Lippes loop
: ' D. Imp . LNG-20
: Choose the correct answer from the options p;
the following statements and choose the set below : i
of correct statements( (1) A-1V, B-I, CJ1, D-IlI
In the members of Fhgophyceas, 2y AL EL GV, DIl

: (3) A, B D-Iv
A. Asexual tion occurs usually by 54; :I_B-T]J], @)V, D-11
i iflagellate res. : N
B. mwucmmwwm @-Giwnbelowm statements :

P only. . . ‘/&aumnl:'l'l'npumor of
A - is not a reliable indicator of vi inity.
C.  Stored food is inthe form of carbohydrates 2 higron /
P o either gignnitol or laminarin, Yo f:::" o:;n ' “O”h"""' Freewr
D.  The major pigntetts found are chlorophyll In the light of tHMabove statements, choose t:
“ i ;cmmﬁsmdmﬂ;wn, : wmsw%hﬁwoptionsgivenbcbﬂi
E. Vegetative celgllau a cellulosic wall, ot g; Stat eme::lﬁ E:eb::“ e ttn“i?::
2 F ment L i
e ':“: f“'“', the outside by gelatinous (3) Both Statergent I and Statement Il are @
coating of algin. = (4) Both Statement | and Statement [ are fals

Cﬂlnoned)ewangerﬁnmlhaopliomgiven /
below: In both sexes ofockroach, a pair of jointed
oz g 17 lamerious srucbes caled anl cr e
@) A B(CandE oply )0 () 8hangom Q. EE
(2) nw Yo ;
@ A B.Chnd OB (3), 5 segmentsh
4) Tb%lll,l’imlx P oo A \H{Iorhmm i ¥
1 ]
T3_English | ” [ Contd~
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Match List 1 with List 11
List 1

A. Pons e |8

Lt
Provides additiona)
Space for Nfllh‘rlq.

! regulates posture

and balance.
g Hypothalamus 1. Controls
: respiration and
gastric secretions,
¢ Medulla M. Connects differem
regions of the
brain.

p. Cerebellum IV.  Neuro secretory
o n cells
Choose the correct answer from the options given
below :

(1) A-L B, C-Il, DIV
(2) A-L B-L C-lII, D-IV
(3) AL B-IL C-1, D-IV %
(4) A-lL B-1V, C-IL, D-1
/ Which of the following is not a steroid hormone?
(1) Progesterone
\99/ Glucagon
(3) Coruisol
(4) Testosterone

dependent RNA polymerase 10 the given
lemplate?
YTACATGGCAAATATCCATTCAS'
() S AUGUACCGUUUAUAGGGAAGUY
SATGTACCGTTTATAGGTAAGTY
(3) S'AUGUACCGUUUAUAGGUMGUJ'

" SAUGUAAAGUUUAUAGGUAAGYY

gy, |

23

yﬂﬂu types of muscles are given as a, b and c.
4

Identify the correct matching pair along with their
location in human hody :

L

leel tmaph Gy

(1) (a) Skeletal - Biceps
(b) Involuntary - Intestine
(c) Smooth - Heart.

(a) Involuntary - Nose tip
(b) Skeletal - Bone Yo
(c) Cardiac - Heart.

(a) Smooth - Toes

(b) Skeletal - Legs

c) Cardiac - Heart.

(a) Skeletal-Triceps -
(b) Smooth - Stomach

e St

(2)

3)

Following are the stages of cell division :
A. Gap 2 phase

B. Cytokinesis 4+

C." Synthesis phase £ ADB
D. Karyokinesis -
E.  Gapl phase
Choose the correct sequence of stages from the
options given below :
(1) B-D-E-A-C

(3) C-E-D-A-B

E-C-A-D-B
(4) E-B-D-A-C

/ﬁhich of the following are Autoimmune
disorders”
bich one is the correct product of DNA

~ Myasthenia gravis v
B. Rheumatoid arthritis
C. Gout »
D. Muscular dystrophy dberd g e
E. Systemic Lupus Erythematosus (SLE) v*
Choose the most appropriate answer from the

oplions given below : 3
(1) B,C&Eonly »(2) C,D&Eonly)

(3) A B&Donly (¥ A.B & E only
| Contd...
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Match List | with List 1 : Given belowl”m correct sequence, (Pa%'
List 1 List 1l / Arrange them n f

A. Lipa . Peptide bond Recent) 0 '
B. Nuclea " Ester bond A, Homo habilifd
C. Protea w Glycosidic bond » X 4
D. Amylasg ¢ Phosphodiester bond Homo ”wmm!em'ts 3 J

Choose the mmeﬂhnmnr from the options given C. .

([,‘)hon se the correc uence of human ¢V0hu

A g an

(3) A4V, B- 1| ™. pa
4) A B~Il.g5 D-1V

1 The flippers of the Penguins and hins are

the example of ¢

UM~ Convergent¥Volution
(2) Divergent cVlution je
(3) Adaptive tion jo
(4) Natural selggfion r

Match List I wizﬂm n:

List Il

Expiratory reserve
volume + Tidal

Inspiratory reserve
. volume
Tidal volume +
Expiratory reserve
volume gAY 4TV
Tidal volume + -
Inspiratory reserve
volume TRV4TV
. Expiratory reserve
volume + Residual
volume Egv + Rv
Cllocuﬂ:eourrmw:fﬁun the options given
below : o
(1) A-ll, B-1, W, D-111
(2) A-L B, &A1, DIV
A- B-N C-l Il

B, 6
Whieh one of lowing fu.tom will not affect
the Hardy-Weinkeyg equilibrium?
(1) mi v
Constant pool
(3) Genetic recombination v
(4) Genetic drift v i

T3 English | : 2.‘
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volume + Gy TV I

@ Which of the following factors are favourable fi

Following are stages of pathway g,
conduction of angagtion potential through g,

heart: o

A. AV bundle N

B. Purkinje fi

C. AV node

D. Bundle branches

E. SAnode

Choose the correct Sequence of pathway from the

options given belﬁ

(1), B-D-E-C-A (2) E-A-D-BC )»
E-C-A-D-Ba§ (4) A-E-C-B-D
e i

EcCADR ;

the formation of oxyhaemoglobin in alveoli?
(1) Low pCO, and High H* concentration
(2) Low pCO, aag High temperature

(3) High pO, andHigh pCO,

(4) High pO, ug}.emr H* concentration

Match List I with®st 11 -
List I o List 11
A. a-l antitrypsig Cotton bollworm
B. CrylAb ADA deficiency
C. CrylAc . Emphysema
D. Enzyme . Com borer

replaceme; ™
therapy o
Choose the comdi:swer from the options give
below :
AL By, C..L D-II
(2) A-l, B-IV g,[)—lll
(3) A-ll, B-1, C-1V, D-11I
(4) AL B-1, C-1I, D-IV



iy

for

jven below are two statements - one jg labe]
/As!"”'o" A and the other jg I-bcllnd'::

A : FSH acts upon ovari
female and Leydig cells in male,
‘/ ll Growing ovarian fol

N follicley in

licles secre
gen in female white |ntemmnl cell s
’/ AL h ng S Secrete
ﬂ'm of the a

stttcmcnts choose the
{ answer ﬁ-mn&e options given below ;

@ is false but R‘ﬂ true

MAdeartmlemdklstheconm

explanation of A,
) MA-IMIR lluebutlllsNOTthc

of A,

The following dusrﬂshowmg restriction sites d
in E.coli cloning ve%pBRJZZ Find the role of
‘X" and ‘Y genes

EcoR |—Cla | Hind [

o X - Oxl
Y - sop y

(1) The gene ‘X' 4y for protein involyed in
replication of Plagmid and *¥” for resistance
to antibiotics. 1

(2) Gene ‘X" is res onsible for :ecogniti?n sita::s
and ‘¥* js responsible for antibiotic
fesistance. (0

() The gene *x" is responsible for resistance to

antibiotics and ‘¥ for protein involved in
S

the replication of PTasmid.__ e
T s n

Gﬂk—x_q.mm%‘“ﬂ" r
ule WPE nu@%fﬂlﬂ IIMIfI'u"Dn of

Plasmig. N

Pl

Jam] v 25

%lch List | with List I -
Reason R /j List 1

List 11
A. Cocai Effective sedative in
Cyurgery
B. Hero I. Oannabis sativa
C. Morphi #mh-oxy.'m
D. Marij - O\Papaver somniferum

Choose the correct ln!& from the options given
below :

(1) A, B-1, C-111, D-1V

> (2) AL BV, CL Y
—AT_ALV, BUIL C1L, IR

(4) AL, B-IIL, C-11. Dml
o

Consider the followi :

A.  Annclids are true coelomates v

B. Poriferans are pseudocoglomates Yo

C. Aschelminthes are acoelomates a

. Platyhelminthes 48 pseudocoelomates )
Choose the correct lnswir from the options given

below :
(1) Conly % D only
(3) Bonly A only !

Given below are two statements -

unantl:hthem&mthedeﬁmmt:
of loop of Henle is iggermeable to water and
permeable to electrolyfEs.

Statement II : The imal convoluted tubule
is lined by simple Wlumnar brush border
epithelium and increases the surface area for
reabsorption.

In the light of the ah&;umnta choose the
correct answer from t tions given below :
(1) Statement | is trd@but Statement 11 is false
(2) Statement 1 is fl& but Sutmnl IL is true

=37 Both Statement Ahd Statement Il are true

(4) Both Statement 1 and Statement II are false -

| Contd...
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Match List | with List 1 :
Ll
Adjacent
vertehrae, limited
maovement
Humerus and
Pectoral girdle,
rotational
movement

. Skull, don‘t
allow any
movement

. Knee, help in

locomotion

socket joints

Choose the correct answer from the options given
below :

(1) A-L BN, C1, D-IV

AdIL B-L CAV, DI
G) ATV, BIL, ClL, D1
(4) AL BHIL C-II, DIV

Which of the following is not a natural/traditional
comtraceptive method?
(1) Lactational amenorrhea
Vaults y
(3) Coitus interruptus
(4) Periodic abstinence

List 11
Mollusca

Ctenophora
Osteichthyes

Hemichordata

Mﬁ'mmﬁmﬂ»oﬂtmsyvm
below :

(1) A-ll, B-IV, C-1, D1y
(2) A-1V, B-lll, C-ll, D-]
(3) A-IV, B-lI, C-lli, D-I

Al B, CAY, DA

26

26

Match List | with ListI1:
List 1

A, Ax

B. C

pattern

" o (r%.
D. Satelli

cmuumnamﬂfffom""'l"mm

below :

(1) _A-IL, BV, C-1, DI
qtd i, Bt C-1V, D-A11
(3 A- AV, B C- u o
(4) A-IV, B-II, C-HL, D-I

Which of the following statements is incorrect?
\U¥” Bio-reactors are used to produce small scale

bacterial cultures.

r 2)
Wt

Ve
v

system.

%Mmhunlwim List I :
List1

(Sub Phases of

Prophase I)
Diakines

B. Pachyte

C. Zygote

Lepto

Bio-reactors have an agitator system,
an oxygen delivery system and foam control

A bio-reactor provides optimal growth

conditions for achieving the desired product
Most commonly used bio-reactors are of

- Chromosomes

List IT
Centriole
Cilia and flagella

Chromosome
Mitochondria

complex formartion
Completion of
terminalisation of
chiasmata

look like thin
threads
Appearance of
recombination
nodules

Choose the correct answer from the options given

R
AL B-1V, C-L DI

@) ATV, B CAL D1
(3) A-IV, B-ll, C-11l, D-1
(4) A-L, B-II, C-IV, D1l




%

-
watch List I with List 1] -
List 1 List
Caumn co 8 ll 'u The*
A ) “Ti pl "
: | :;:'hmm lﬁ:umid of Agrobacterium tumefaciens
5 widal NN R oid
D Mlnr:' . ™~ D::On:;:"'“ (1) Tumor inducing plasmid
am orrect an (3]
pelow ; o F from the options givep b Tm’""“'a'dmm plasmid YO
mﬂ;l_._ C-1I, mgv L) wﬁhﬂﬁn; plasmid
@) AV, B, C-111, D-1 @ o~
() AL B-IV, C-lIl, D4y ) Tumor indefepdent plasmid
@ A-LB-IL C-1L, gV v
N
3 Which Lo e
Given below are two : ich of the follpwing is not a com f
a5 Assertion A and n(:et::-:.i‘;n: 1; labelled Palfopian g Eﬂ g
. abelled
l"""fp“_ % : et ) [nfundihxlug
/dmmﬂhmﬁ:ﬁs“ﬁﬁﬂm (2) Ampulla N
R ey by doctors for g
Reason R : Colostrum contains several antibodi \p)/uurineﬁmhs
" 1es
- e Wl
In the light of the abevk statements, ch Q ‘
most appropriate ansWar from the o;,;ﬂz:sg t:e ha
ity P giv Match List [ witfhist 1 :
(1) Aiscorrect but Rs not correct, List 1 o
(2) A isnot correct but R is correct. N .Linn .
Lﬂfmwa;r: correct and R is the correct A. Down's 11™ chromosome
10on O .
(4) Both A and R areorrect but R is NOT the bl by T haomeesion
correct ex - .
P of A C. p-Thalassem . 21% chromosome
3 Match List I with Lisgd) D. Kiinefelters”(  YV. 16® chromosom
List 1 ¢y ListH N 3
i 8 et - g
: fish
c pm/ Saw C the answer from the options given
% jii. Angel fish below :
{ M Flying fish \w/ o
&':ﬁemamwrﬁwwﬂwu'm A
: ™ 2) A-IV,B-1, @, D-
g: A4V, B.1, c-II, DIl Y ik I.G‘N" i
o tm. B-11, C-L PV )@ QPR ORRRE
1L, B-1, C-1II v
% A- 3
;‘ﬁ""' B, C, DIV (4) A-lL, B-IL, C-IV, D-l\[o
‘t“. | 27 | Contd...
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+ Section-B (Q_No. 186 10300 )

The following are the statements about nof-
chordates :

; A""-'""_. Pharynx is perforated by gill slits. Yo
B. Notochord is absent.Y”

C. Central nervous system is dorsal.

D. Hean is dorsal if present. V'

E. Post anal tail is absent. \~

Choose the most appropriate answer from the

5 gIV low :
iy
(2) (BLC & Donly

(3) A&Conly @

) A@& D only

Match List 1 with List 11 :
List I List IT
A Sssomoic . Lower invertebrates
B. Proterozoic . Fish & Amphibia -
C. Cenozoic Em——H. Birds & Reptiles
D. Paleozoic Em—[M. Mammals
Choose the correct answer from the options given
below : X
(1) A-LB-L C-IV, D-II
(2) AL, B-L C-IV, D-II
AL BL GIIL DIV
(4) AT, B-L C-1I, D-IV

' /Gimbcmmmmmts:

Statement I : The cerebral hemispheres are
J connected by nerve tract known as corpus

' Statement II : The brain ste i
>° mdu[hoblmmm:ndm .onsjsts of the
———— —

In the light of the aboye & 5, choose the

m Ippl'opruw answer from the options given

Muumcnt L'is correct but Statement 11 is
incorrect.

(2) Statement | is incorrect but Statement 1] js

correct

3) Bothslltmenlhnd&nlemmlllmmma.

) _Both Statement | and Statement 11 are
incorrect.

OnRH "
| i
—
= (:) Ry
i
v ‘f’
+ Factors
“""’:"" i
Formation of spermatids ™

(1) FSH, Sertoli cells, Leydig cells,
spermatogenesis.
(2) ICSH, Leydig cells, Sertoli cells,
?0 spermatogenesis.
\JJ( FSH, Leydig cells, Sertoli cells,
. !FEMUI.EIEIIH'IS
)0 (4) ICSH, Interstitial cells, Leydig cells,
& spermiogenesis.

190 Match List I with List II :
List I

List IT
A. RNA polymerase II1- I. snRNPs
B. Termination of
transcription I[I. Promotor
C. Splicing of Exons [II. Rho factor
D, TATA box IV. SnRNAs, tRNA
Choose the correct answer from the options given
below

(1) A-IIL, B-1V, C1, D)1
(2) A-IV, B, C-1, D1y
(3) A-IL, B-1v, C-1, D11

T3_English |
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(4) A-lIL, B-lL, C-1V, D1




. .H‘chl_jsﬂllriﬂ\l,in":

below :

(1) A-IL B-IV, C-I1, D-1
i_-l_l_l_, B-IV, C-L D-II

() AL, B-IL C-II, D-IV

4) A-IV, B-11, C-I, D-III

f/ Match List I with List II :
FSams 7 98
A Unicellular glandu
epithelium
8 Compound epitheliu
C Multicellular
Blandular epitheli
. Endocrine glandul
pithelium

mewwmmmiﬂ“ il

o

1. DI
Ainpay 1,2
9 A1 By, c.1v, DI
B) AL, B1, -1, DIV
9 Ay, B-111, C-1, D11

h]

Protruding eye balls.

Excessive secretion
of growth hormone.

List 11

Choose the correct answer from the options given

Salivary glands

Pancreas

. Goblet cells of

alimentary canal
' Moist surface of

buccal cavity

29

193 Given below are two statements :

Statement | : Bone marrow is the main lymphoid
organ where all blood cells including lymphocytes

Statement 11 { Both bone marrow and thymus
provide micro environments for the development
and maturation of T-lymphocytes.

In the light of the above statements, choose the most
appropriate answer from the options given below :

(1) Statement I is correct but Statement II is
incorrect.

(2) Statement I is incorrect but Statement II is
correct.

(3) Both Statement | and Statement Il are correct.

(4) Both Statement | and Statement II are
incorrect. b

/Mmmnlmmnummwm

of cockroach.
List I List I
A. The structures Gizzard
for storing of
B. Ring of 6-8 bl &
tubules at junction Cacca
foregut and midgut
C. Ring of 100-150 l. Malpighian
coloured thin tubules
filaments at juncti
midgut and hindgit.
D. The structures Crop
for grinding the food.
. Choose the comrect answer from the options given
below :
Ay, B €4 D1

(2) A-lL, B-IL, C-IV, D-1
(3) A-IV, B-lI, C-llL, D-1 * et
(4) A-L, B-ll, C-lIL, DIV
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ﬁ Choose the correct statement given beloW
regarding juxta medullary nephron.
LHT Loop of Henle of juxta medullary nephro”
runs deep into medulla.
(2) Juxta medytjary nephrons outnumber the
cortical nefions,
(3) Juxta medffJAry nephrons are located in the
columns o ni.

(4) Renal corpggle of juxta medullary nephron
lies in the oMiér portion of the renal medulla.

/ Match List I with List I :
List 1 List 11

Qo
N
A. Pwa - Heart muscles are
™M electrically silent.
B. QRS - Depolarisation of
ventricles.
C T . Depolarisation of
atria.
D. T-p O V. Repolarisation of .
™ . ventricles.

Cllmsetheoon-ﬂanswer from the options given
below : o~ .
(1) AL B-1IL, 31, D-IV
@ Av,B11, ¥ pm
(3) A-lL B-1II, C-IV, D-l1
ALl B C1Y, D1

o~
/ASFH'ABO bige! grouping system, the blood
group of father IB*, mother is A* and child is

O. Their respediie genotype can be
A BB 1°t T
B. BB /IAIA /i

C. 1AB/iA/1B; y
D. 1A/ 1B/ D y
E. ilﬂfilﬂuﬁ'n

Choose the mofflappropriate answ.
et Nlp:pmp answer from the

(N C&Bﬂl’xg (2) D & E only

(4) Bonly

30

gowtiio BRIUR |
Gause’s Competitive
guatement I ¢ that two closely relu:"\

ﬂ% different resources %m:
imﬂﬂiﬁ: According to Gause's
mﬂwition.m inferior wi!lbee:::ﬁ
:;I::;ﬂ':ly w if resources afe ]|mitm‘ \
1
'dﬂ!‘f the above statements,

::)::‘tl.llﬂmﬁf from the options given h’h.‘
(n statement | is true but Smmm"i‘fi.
(2) Statement 1 is false but Statement [y ;,
(3) Both Sitement [ and Statement [| e

(4) Bot gmnﬂ““md Statement Ilau[..

gmrdingt[::hmi‘: cycie of an enzyme Aty
select the qpgrect sequential steps :
A. Substhite enzyme lex formation,
substrate.
Release of products.
C 1 bonds of the substrate brokey
Substgage binding to active site.
Chmﬁ'ﬁmm&_&'nﬂnm&
below: (N
(1) B,AQD,E
) ED,C.B.A
BrEaDcBERA v @
M AR RDC ..

Q

moo

Given bel are two statements -
slonﬂ,tenel : Mitochondria and chloroplass¥
dou brane bound organelles.

itltelnflﬂ * Inner membrane of mitochos”
re lt;:;& less Permeable, as compartd’

Inthe lightofthe aboye statements, chooset®
m;:ﬁm from the options given

Stat £8 . W
co TNt s incorrect but Stateme"

3)
Boﬂmement land Statement [1ar¢ ‘on::

4) Boty
inoorrmSt?tement l and Statem‘“tl

| o
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